99Pd

Z = 46

N =53 adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 845.255 ( 0.005) MeV
Qbeta+ = 3.402 ( 0.020) MeV
Energy T J+ J- J-other T1/2

99PD 1 | | | 0.000 (5/2)+ 1 21.4 M 2
99PD 2 | | | 0.220 (3/2)+ 2
99PD 3 | | | 0.264 (7/2)+ 3
99PD 4 | | | 0.464 (3/2+) 4
99PD 5 | | | 0.555 (5/2,7/2+) 5
99PD 6 | | | 0.687 (5/2+) 6
99PD 7 | | | 0.815 (7/2)+ 7
99PD 8 | | | 0.816 (7/2+) 8
99PD 9 | | | 0.832 (9/2)+ 9
99PD 10 | | | 1.070 (11/2)+ 10
99PD 11 | | | 1.103 (9/2)+ 11
S-alpha= 1.150 ( 0.011)--—————————————mmo————— -—- e e
99PD 12 | | | 1.183 (3/2,5/2)+ 12
99PD 13 | | | 1.420 13
99PD 14 | I | 1.424 (5/2-,7/2,9/2+) 14
99PD 15 | | | 1.468 (11/2)+ 15
99PD 16 | | | 1.540 (9/2)+ 16
99PD 17 | | | 1.650 (13/2)+ 17
99PD 18 | | |  1.697 (9/2+) 18
99PD 19 | | | 1.719 (15/2)+ 19
99PD 20 | | | 1.850 (7/2,9/2+) 20
99PD 21 | | | 1.854 (9/2+) 21
99PD 22 | | | 1.912 (7/2,9/2,11/2) 22
99PD 23 | | | 2.007 (7/2,9/2) 23
99PD 24 | | | 2.018 (11/2-) 24
99PD 25 | | | 2.062 25
99PD 26 | | | 2.138 (7/2+,9/2+,11/2+ 26)
99PD 27 | | | 2.145 (11/2) 27
99PD 28 | | | 2.172 (7/2+,9/2+,11/2+ 28)
99PD 29 | | | 2.193 (15/2+) 29
99PD 30 | | | 2.206 (15/2+) 30
99PD 31 | | | 2.240 (7/2,9/2,11/2+) 31
99PD 32 | | | 2.264 (7/2,9/2+) 32
99PD 33 | | | 2.269 (7/2+) 33
99PD 34 | | | 2.333 (7/2,9/2,11/2+) 34
99PD 35 | | | 2.422 (17/2+) 35
99PD 36 | | | 2.427 (13/2+) 36


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=99Pd 
https://www.nndc.bnl.gov/ensdf/
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